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MATLAB F2 7
A=rand (100, 100) ; %ILATHIEnT LLATHL
a=0;
for i=1:length(A)
if i==1
B=A(2:1ength(A), 2:1ength(A)) ;
a(i)=(C-1)"G+D)* (A1, 1)) *det (B) :
else
Al=A(2:1ength(A), 1:i-1);
A2=A(2:1ength(A), i+1:1length(A)) ;
B=[A1 A2];
a(i)=(C1)"G+D)* (A1, 1)) *det (B) :
end
end
resul t1=sum(a)
resul t2=det (A)

BT T3 3
resultl=

-3. 3363e+25
result2 =

-3. 3363e+25
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MATLAB #2J7 (—)
% SRKALPIALEL LA 20 b b5 (58 ) 3 el ) 7
ml=1;
format long
for i=1:99
for j=1:99



if abs(i/j-pi)<ml
m1=abs(i/j-pi);
al=i;bl=j;
end
end
end
ml,al,bl
pil=al/bl
% SRAE AL LA )70 Hrh L [ A
m2=1;
for i=1:999
for j=1:999
if abs(i/j-pi)<m2
m2=abs(i/j-pi);

BT 14341

a2=i;b2=j;
end

end
end
m2, a2,b2
pi2=a2/b2
% K5 [ A 4 de e a () DU A Koy 3
m3=1;

for i=1000:9999
for j=1000:9999
if abs(i/j-pi)<m3
m3=abs(i/j-pi);
a3=i;b3=j;
end
end
end
m3,a3,b3
pi3=a3/b3

AT SR IR
ml=
0.001264489267350
al=
22
bl=
7
pil =
3.142857142857143
m2 =
2.667641894049666e-07



a2 =
355
b2 =
113
pi2 =
3.141592920353983
m3 =
2.667641894049666e-07
a3 =
3195
b3 =
1017
pi3 =
3.141592920353983
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% SKAEPIALEL LA 20 b b5 (58 ) 3 el ) 7
format long

x=1:99;

y=1:99;

[X, Y]=meshgrid(x, y) ;
Mi=abs (X. /Y-pi);

M1 1=reshape (M1, 1,99 2) ;
[ml, T]=minM1 1) ;

ml

al=X (D)

b1=Y (I)

% SRAEALE LA I 20 b by 5 ) 3R el 1 3
x=1:999;

y=1:999;

[X, Y]=meshgrid(x, y) ;

M2=abs (X. /Y-pi) ;

M2 1=reshape (M2, 1,999 2) ;

[m2, I]=min(M2 1) ;

m2

a2=X (1)

b2=Y (I)
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(1) MATLABFL %
s=0;
a=1;
hold on
for i=1:100
a=ali;
s=s+l;
plot(i,s,'+")
end
S
hold off

BRI 4R
Ss=
1.71828182845905
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(2) MATLABTF
p=[123];
s=[0 0 0];
for i=1:100



s(1)=s(1)+1/i"p(1);

s(2)=s(2)+1/i"p(2);

s(3)=s(3)+1/i"p(3);

subplot(2,2,1),plot(i,s(1),'+",title('p=1",hold on

subplot(2,2,2),plot(i,s(2),'y+"),title('p=2"),hold on

subplot(2,2,3),plot(i,s(3),'g+"),title('p=3"),hold on
end

BATEIR:
s =
5.18737751763962  1.63498390018489  1.20200740065968
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Mp=1INpREURH, p=2i s, KAMST1.640, p=3ifpZullisl, KLshT1.202.
(3) MATLABFF
X=28;
hold on
for i=1:20
plot(i,x,'g+"
x=0.5*(x+5/x);
end
hold off
X

IBATHR

X =
2.23606797749979
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1. PNERER
clear;
h=10;
flag=0;
while h>0.001
if rem(flag,2)==0
down(h)
flag=flag+1;
h=0.8*h;
else
flag=flag+1;
up(h)
end
end
2. I
function f=up(h)
g=9.8;
x=0;
tmax=sqrt(2*h/g);
for t=tmax:0.1:0
y=h-0.5*g*t"2;
pause(0.15);
plot(x,y,'0','markersize',12,'markerfacecolor','r")
axis([-1,1,0,11]);
end
3. TR
function f=down(h)
g=9.8;
x=0;



tmax=sqrt(2*h/g);

for t=0:0.1:tmax
y=h-0.5*g*t"2;
pause(0.15);
plot(x,y,'o','markersize',12,'markerfacecolor’,'r')
axis([-1,1,0,11]);

end
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BRIELM ST A«
function y=f(x)

y=X"2+x*sin(x)+2;

TR JHAMIE) -

x0=1;delta=1;
ezplot ( x 2+x*sin(x)+2", [-20, 20])
hold on

x=-20:0. 01:20;



for i=16:-5:1

y0=f (x0) ;

y1=f (xO+i*delta) ;

k=(y1-y0) / (i*delta) ;

plot (x, k¥ (x-x0) +y0, ' r’, [x0, xO+i*delta], [y0, y1], . )
end
hold off
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X2+X sin(x)+2
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